

Name = Syra Hukain

ID = 7877

Section = A

Subject = Differential Equations

Teacher = Ms. Shomaila Mazhar.

Exam

Date

Q No 1 Solve the Initial value problem

$$\frac{dy}{dx} = e^{y-t} \sec(y) (1+t^2) \quad y(0) = 0$$

Sol \Rightarrow

$$\frac{dy}{dx} = \frac{e^y e^t}{\cos(y)} (1+t^2)$$

$$e^{-y} \cos(y) dy = e^{-t} (1+t^2) dt$$

Integration on both side.

$$\int e^{-y} \cos(y) dy = \int e^{-t} (1+t^2) dt$$

$$\frac{e^{-y}}{2} \sin(y) - \cos(y) = -e^{-t} (t^2 + 2t + 3)$$

Applying the Initial Condition gives.

$$\frac{1}{2} (-1) = -(3) + C \quad C = \frac{5}{2}$$

Therefore the Implicit Solution is.

$$\frac{e^{-y}}{2} \sin(y) - \cos(y) = -e^{-t} (t^2 + 2t + 3)$$

2

It is not possible to find an explicit solution for this problem.

(3)

QNo 2

$$(\sqrt{x+y} + \sqrt{x-y}) dx - (\sqrt{x+y} - \sqrt{x-y}) dy = 0$$

Sol $\Rightarrow (\sqrt{x+y} + \sqrt{x-y}) dx - (\sqrt{x+y} - \sqrt{x-y}) dy = 0$

$$(\sqrt{x+y} + \sqrt{x-y}) dx = (\sqrt{x+y} - \sqrt{x-y}) dy = 0$$

$$\Rightarrow (\sqrt{x+y} + \sqrt{x-y}) dx = (\sqrt{x+y} - \sqrt{x-y}) dy = 0$$

$$\frac{dy}{dx} = \frac{(\sqrt{x+y}) + (\sqrt{x-y})}{(\sqrt{x+y}) - (\sqrt{x-y})}$$

$$\frac{dy}{dx} \Rightarrow \frac{\sqrt{x} \left(1 + \frac{y}{\sqrt{x}}\right) + \sqrt{x} \left(1 - \frac{y}{\sqrt{x}}\right)}{\sqrt{x} \left(1 + \frac{y}{\sqrt{x}}\right) - \sqrt{x} \left(1 - \frac{y}{\sqrt{x}}\right)}$$

$$\frac{dy}{dx} \Rightarrow \frac{\left(1 + \frac{y}{\sqrt{x}}\right) + \left(1 - \frac{y}{\sqrt{x}}\right)}{\left(1 + \frac{y}{\sqrt{x}}\right) - \left(1 - \frac{y}{\sqrt{x}}\right)}$$

Taking square roots of y

(4)

$$\frac{dy}{dx} = \frac{\left(1 + \frac{\sqrt{y}}{\sqrt{x}}\right) + \left(1 - \frac{\sqrt{y}}{\sqrt{x}}\right)}{\left(1 + \frac{\sqrt{y}}{\sqrt{x}}\right) - \left(1 - \frac{\sqrt{y}}{\sqrt{x}}\right)}$$

$$f(x) = \frac{\sqrt{y}}{\sqrt{x}} \quad \text{Form}$$

$$v = \frac{y}{x} \Rightarrow y = vx$$

$$v \cdot x \cdot t \cdot x$$

$$\frac{dy}{dx} = v \frac{dx}{dx} + x \frac{dv}{dx}$$

Put equation

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$v + x \frac{dv}{dx} = \frac{(1 + \sqrt{v}) + (1 - \sqrt{v})}{(1 + \sqrt{v}) - (1 - \sqrt{v})}$$

$$\frac{dy}{dx} = \frac{(1 - 1\sqrt{v})^2}{1 - (\sqrt{v})^2} \Rightarrow \frac{1 - v}{1 + v}$$

(5)

$$v + x \frac{dv}{dx} = \frac{1-v}{1+v} - v$$

$$x \frac{dv}{dx} = \frac{1-v-(1+v)}{1+v} \Rightarrow \frac{1-v-v+1}{1+v}$$

$$x \frac{dv}{dx} \Rightarrow \frac{1-2v+v^2}{1+v}$$

$$x \frac{dv}{dx} = \frac{v^2 - 2v + 1}{1+v}$$

$$\frac{dv}{dx} = \frac{v^2 - 2v + 1}{1+v} \cdot x$$

$$\int \frac{dx}{x} = \int \frac{1+v}{v^2-2v+1}$$

Multiplying by 2 Numerator or Right

$$= \int \frac{dx}{x} = \int \frac{2v+2}{v^2-2v+1}$$

$$\text{Let } u = \text{den} (v^2+2v+1)$$

$$u = v^2 + 2v + 1 \quad \text{Put value of } v$$

$$n = \frac{y_2}{z_2} + \frac{n}{R_2} + 1$$

$$n = \left(\frac{n}{R}\right)^2 + 2\left(\frac{n}{R}\right) + 1$$

(9)

(7)

Q No 3

$$(D^4 + D^2)y = 3x^2 + 4\sin x - 2\cos x$$

SD $(D^4 + D^2)y = 3x^2 + 4\sin x - 2\cos x$

$$\Rightarrow f(D)y = f(x)$$

As it is non-homogeneous linear equation -

so solution will be

$$y = y_c + y_p \rightarrow \text{①}$$

Complementary solution y_c

$$D^4 + D^2 = 0 \Rightarrow D^2(D^2 + 1) = 0$$

Either $D^2 = 0 \Rightarrow \boxed{D = 0}$

$$D^2 + 1 = 0 \rightarrow D^2 = -1$$

$$D = \sqrt{-1} \Rightarrow \boxed{D = i} \text{ or } \boxed{D = 0 + i}$$

(8)

Roots are real and complex

$$y_c = C_1 e^{0x} e^{0x} (C_2 \cos x + C_3 \sin x)$$

$$y_c = C_1 + C_2 \cos x + C_3 \sin x$$

$$y_p = \frac{1}{f(D)} f(x)$$

$$y_p = \frac{1}{D^4 + D^2} (3x^2 + 4 \sin x - 2 \cos x)$$

$$= \frac{3x^2}{D^4 + D^2} + \frac{4 \sin x}{D^4 + D^2} - \frac{2 \cos x}{D^4 + D^2}$$

$$f(D) = D^4 + D^2$$

$$\text{at } \Delta = 0 \Rightarrow f(D) = 0$$

$$\text{sr } f'(D) = 4D^3 + D^2$$

$$\text{now also for } D = 0 \Rightarrow f'(D) = 0$$

again differentiating

(9)

$$f''(D) = 12D + 2$$

So for $D = 0$

$$f''(0) = 12(0) + 2 = 2$$

So replacing $\frac{1}{f(D)}$ with $\frac{x^2}{f''(D)}$

$$\Rightarrow y_p = \frac{x^2 \cdot 3x^2}{12D+2} + \frac{x^2}{12D+2} \cdot 4\sin x - \frac{x^2}{12D+2} \cdot 2\cos x$$

Putting $D = 0$ in all

$$y_p = \frac{x^2 \cdot 3x^2}{12(0)+2} + \frac{x^2 \cdot 4\sin x}{12(0)+2} - \frac{2x^2 \cos x}{12(0)+2}$$

$$y_p = \frac{3x^4}{2} + \frac{4x^2 \sin x}{2} - \frac{2x^2 \cos x}{2}$$

$$= \frac{3}{2}x^4 + 2x^2 \sin x - x^2 \cos x$$

So

Putting in Equation (i)

(10)

$$y = C_1 + C_2 \cos x + C_3 \sin x + \frac{3}{2} x^4 + 2x^2 \sin x - x^2 \cos x$$

$$y = C_1 + (C_2 - x^2) \cos x + (C_3 + 2x^2) \sin x + \frac{3}{2} x^4$$